

Contract ID: 2024.10 Contract Type: Contract

### **Bids Received For Contract**

Roadside Clearing Mile 25.8 to Mile 32.0 12/19/2023 11:00:00 AM

Company Name	Total Bid Amount		
Comprehensive Land Technologies, Inc South China, ME	\$151,143.00		
Drew Corp - Center Lovell, ME	\$157,400.00		
Beaulieu Logging LLC Arundel, ME	\$237.063.88		

Page 1 of 4 Print Date: 12/19/2023



**Contract ID: 2024.10 Contract Type: Contract** 

### **Bids Received For Contract**

**Roadside Clearing** Mile 25.8 to Mile 32.0 12/19/2023 11:00:00 AM

**Comprehensive Land Technologies, Inc.** South China, ME

Item No.	Item Description	иом	Quantity	Unit Price	Item Bid Amount
201.11	Clearing	AC	15.20	9465.00	\$143,868.00
201.23	Removing Single Tree	EA	20.00	285.00	\$5,700.00
613.319	Erosion Control Blanket	SY	500.00	0.25	\$125.00
619.1202	Temporary Mulch	LS	1.00	1000.00	\$1,000.00
656.5	Baled Hay, in place	EA	100.00	2.00	\$200.00
656.632	30 inch Temporary Silt Fence	LF	500.00	0.50	\$250.00
Total Bid			\$151,143.00		

Page 2 of 4 Print Date: 12/19/2023



**Contract ID: 2024.10 Contract Type: Contract** 

### **Bids Received For Contract**

**Roadside Clearing** Mile 25.8 to Mile 32.0 12/19/2023 11:00:00 AM

#### **Drew Corp** Center Lovell, ME

Item No.	Item Description	иом	Quantity	Unit Price	Item Bid Amount
201.11	Clearing	AC	15.20	9500.00	\$144,400.00
201.23	Removing Single Tree	EA	20.00	100.00	\$2,000.00
613.319	Erosion Control Blanket	SY	500.00	5.00	\$2,500.00
619.1202	Temporary Mulch	LS	1.00	5000.00	\$5,000.00
656.5	Baled Hay, in place	EA	100.00	10.00	\$1,000.00
656.632	30 inch Temporary Silt Fence	LF	500.00	5.00	\$2,500.00
Total Bid			\$157,400.00		

Page 3 of 4 Print Date: 12/19/2023



**Contract ID: 2024.10 Contract Type: Contract** 

### **Bids Received For Contract**

**Roadside Clearing** Mile 25.8 to Mile 32.0 12/19/2023 11:00:00 AM

#### Beaulieu Logging LLC. Arundel, ME

Item No.	Item Description	иом	Quantity	Unit Price	Item Bid Amount
201.11	Clearing	AC	15.20	12583.15	\$191,263.88
201.23	Removing Single Tree	EA	20.00	365.00	\$7,300.00
613.319	Erosion Control Blanket	SY	500.00	6.00	\$3,000.00
619.1202	Temporary Mulch	LS	1.00	21000.00	\$21,000.00
656.5	Baled Hay, in place	EA	100.00	20.00	\$2,000.00
656.632	30 inch Temporary Silt Fence	LF	500.00	25.00	\$12,500.00
Total Bid			\$237,063.88		

Page 4 of 4 Print Date: 12/19/2023